

Thursday Handicap

Thursday 6:30 pm

New Berlin Bowl

Lanes 1 - 28

Lane Assignments

	1-2	3-4	5-6	7-8	9-10	11-12	13-14
Today	3- 27	1- 5	7- 4	9- 6	8- 12	10- 14	11- 15
Next Week	15- 4	6- 3	8- 5	21- 23	11- 9	27- 25	28- 1
	15-16	17-18	19-20	21-22	23-24	25-26	27-28
Today	13- 18	16- 19	21- 17	24- 20	22- 25	23- 28	26- 2
Next Week	17- 2	18- 20	22- 19	10- 7	24- 26	12- 13	16- 14

Team Standings

Place	Lane	#	Team Name	1st Part		2nd Part		3rd Part		High Game	High Sers	HDCP Game	HDCP Sers
				WON	Place	WON	Place	WON	Place				
1	17	16	RE/MAX Forward	247½	2	87½	1	0	0	1108	3203	1230	3569
2	13	11	Choke Artists	164½	25	87	2	0	0	1071	3036	1205	3426
3	12	14	4Pack & Juicebox	222½	8	82½	3	0	0	1135	3261	1244	3588
4	20	17	3 Big Ones	186½	19	75	4	0	0	961	2757	1222	3495
5	18	19	Hamm's Hammers	187½	18	75	5	0	0	1103	2944	1271	3448
6	5	7	DJs Goalpost	188½	17	74	6	0	0	1085	2930	1218	3396
7	2	27	Livin on a Spare	182½	20	72	7	0	0	959	2699	1235	3485
8	8	6	The Network	210½	12	71½	8	0	0	1153	3232	1246	3511
9	27	26	SF Bowlers	232½	6	70	9	0	0	897	2436	1257	3530
10	9	8	Legion of Boom	227	7	67½	10	0	0	1125	3161	1237	3473
11	11	10	Sandbaggin' Sobs	242½	4	62	11	0	0	1093	3076	1235	3522
12	15	13	Injury Reserve	220½	9	61½	12	0	0	1083	2967	1226	3396
13	19	21	Wet, Hot, American Bowling	189½	16	61	13	0	0	811	2225	1195	3377
14	24	25	Gutter Busters	146	27	60½	14	0	0	986	2638	1219	3402
15	16	18	What a Team	121	28	60	15	0	0	990	2784	1157	3408
16	1	3	Recreational Int	198	15	58½	16	0	0	1049	2925	1223	3411
17	3	1	Wrexing Crew	213½	11	58	17	0	0	978	2782	1171	3395
18	26	28	Balls Deep	245	3	56	18	0	0	978	2830	1211	3529
19	4	5	The Highlifers	148	26	54½	19	0	0	1051	2830	1227	3397
20	25	23	Rule #24	182	22	51½	20	0	0	1130	3081	1225	3382
21	6	4	Habitual Line St	182½	21	48½	21	0	0	999	2883	1178	3370
22	14	15	Sambucca Strikes	258	1	47	22	0	0	1045	2940	1216	3453
23	23	22	Team 47	216½	10	46	23	0	0	1147	3184	1240	3463
24	10	12	ARGUS	201½	14	45½	24	0	0	1014	2842	1229	3398
25	7	9	Gutterheads	166	24	45	25	0	0	1085	2999	1221	3403
26	21	24	Kuglitsch's	180½	23	40	26	0	0	998	2731	1209	3364
27	22	20	Silent Strikers	206	13	33	27	0	0	1163	3270	1255	3546
28	28	2	Pepsi	233½	5	29½	28	0	0	1163	3395	1236	3614

Review of Last Week's Bowling.....

Lanes	Team Name	HDCP -1-	HDCP -2-	HDCP -3-	HDCP Total	Last Wk WON	Team Name	HDCP -1-	HDCP -2-	HDCP -3-	HDCP Total	Last Wk WON
1-2	Gutter Busters	964	1196	1108	3268	28½	<--> Legion of Boom	971	1106	981	3058	11½
3-4	Balls Deep	1017	1142	1109	3268	11	<--> Sandbaggin' Sobs	1162	1101	1167	3430	29
5-6	Choke Artists	1176	1201	1049	3426	33	<--> Pepsi	1135	1019	1022	3176	7
7-8	Recreational Int	1048	1056	1113	3217	13½	<--> Injury Reserve	1021	1143	1165	3329	26½
9-10	The Highlifers	1051	1054	1135	3240	8	<--> RE/MAX Forward	1075	1190	1137	3402	32
11-12	3 Big Ones	1121	1045	1045	3211	10	<--> DJs Goalpost	1143	1152	1089	3384	30
13-14	Silent Strikers	1047	1085	1085	3217	14	<--> Gutterheads	1055	1181	992	3228	26
15-16	ARGUS	1095	1132	1068	3295	25	<--> Team 47	1036	1099	1140	3275	15
17-18	4Pack & Juicebox	1046	1059	1095	3200	25½	<--> Rule #24	1017	1060	1072	3149	14½
19-20	SF Bowlers	1257	1116	1089	3462	38	<--> Sambucca Strikes	1100	1066	963	3129	2
21-22	Livin on a Spare	1142	1111	1076	3329	27	<--> What a Team	1074	1036	1126	3236	13
23-24	Hamm's Hammers	1067	1084	1114	3265	14	<--> Wrexing Crew	1125	1095	1092	3312	26
25-26	Wet, Hot, American	996	1097	1067	3160	34	<--> Habitual Line St	930	1041	1042	3013	6
27-28	Kuglitsch's	1007	974	1053	3034	8	<--> The Network	1189	1187	1033	3409	32

Last Week's Top Scores

Scratch Game	1103	RE/MAX Forward	1085	Gutterheads	1078	Pepsi
Scratch Series	3141	RE/MAX Forward	3076	Sandbaggin' Sobs	3052	The Network
Handicap Game	1257	SF Bowlers	1201	Choke Artists	1196	Gutter Busters
Handicap Series	3462	SF Bowlers	3430	Sandbaggin' Sobs	3426	Choke Artists
Scratch Game	278	Chris Schaller	269	Tim Ascher	269	Anthony Herrmann
Scratch Series	772	Jeff Huebner	723	Craig Walters	690	Jason Rueckert
Handicap Game	306	Chris Schaller	284	Sue Daschner	282	Dianne Cronce
Handicap Series	838	Jeff Huebner	795	Jason Rueckert	282	Tim Felion
					752	Dianne Cronce

Season High Scores

Scratch Series	3395	Pepsi	3270	Silent Strikers	3232	The Network
Handicap Series	3588	4Pack & Juicebox	3569	RE/MAX Forward	3530	SF Bowlers
Scratch Game	1163	Pepsi	1163	Silent Strikers	1153	The Network
Handicap Game	1271	Hamm's Hammers	1257	SF Bowlers	1244	4Pack & Juicebox
Scratch Series	772	Jeff Huebner	761	Steve Biskupski	756	Mike Placzek
Handicap Series	844	Tom Siegel	814	Noelle Wolter	804	Anthony Herrmann
Scratch Game	300	Mark Peters	300	Dale Hackbarth	290	Steve Bequest
Handicap Game	314	Brian Fridl	312	Kyle Chucka	312	Bret Henkel

Split 1 High Scores

Scratch Series	3395	Pepsi	3270	Silent Strikers	3232	The Network
Handicap Series	3588	4Pack & Juicebox	3569	RE/MAX Forward	3530	SF Bowlers
Scratch Game	1163	Pepsi	1163	Silent Strikers	1135	4Pack & Juicebox
Handicap Game	1271	Hamm's Hammers	1246	The Network	1237	Legion of Boom
Scratch Series	763	Tom Siegel	756	Mike Placzek	755	Steve Rozinski
Handicap Series	814	Noelle Wolter	804	Anthony Herrmann	803	Bob Ahrens
Scratch Game	300	Mark Peters	290	Steve Bequest	288	Eric Dehli
Handicap Game	314	Brian Fridl	312	Bret Henkel	305	Ann Mueller
					305	Derek Hutchinson

Team Rosters

ID #	Name	Pins	Gms	Avg HDCP	Points Won	ID #	Name	Pins	Gms	Avg HDCP	Points Won		
1 - Wrexing Crew						2 - Pepsi							
150	Ken Mueller	4623	27	171	44	23.0	131	Mike Placzek	7536	36	209	9	23.0
27	Kate Gleason	6452	39	165	49	35.5	132	Jim Blinka	6734	32	210	9	21.5
28	Rex Newton	6148	39	157	56	28.0	133	Alex Mcrae	7862	39	201	17	23.0
157	Dianne Cronce	6576	36	182	34	25.0	134	Jim Pandl	5988	30	199	18	22.0
30	Steve Biskupski	8090	36	224	-4	16.0	135	Pat Mcrae	8297	39	212	7	31.5
156	Patty Biskupski	2493	18	138	73	9.0	239	Jeremy Kenyon	1991	9	221	-1	5.0
3 - Recreational Int						4 - Habitual Line St							
11	Casey Schalk	6785	36	188	28	25.0	243	Jeff Kuhrt	1063	6	bk193	24	2.0
12	Eric Remfrey	4579	24	190	27	18.5	16	Andy Lapointe	6687	39	171	44	30.5
13	Eric Berg	5833	36	162	52	25.5	206	Jeff Klosowski	3746	21	178	37	13.0
14	Tim Ascher	7612	36	211	8	28.5	76	Emily Ruehle	4620	27	171	44	18.0
15	John Goodman	7548	39	193	24	21.0	19	Eric Murawski	6922	36	192	25	18.0
201	Ernie Ascher	3218	21	153	60	11.0	20	Paul Schum	6864	36	190	27	29.0
174	Adam Terrell	559	3	bk220	0	2.0	153	Eric Perea	1552	9	172	43	5.5
5 - The Highlifers						6 - The Network							
111	Peter Brey	5086	30	169	45	22.0	17	Randy Schmidt	4191	24	174	41	12.0
112	Mari Pavleje	3259	21	155	58	18.0	51	Bill Spitzer	5525	30	184	32	24.0
113	Rean Ruszkiewicz	5295	30	176	39	18.0	53	Jeff Huebner	6037	30	201	17	20.0
77	Al Fisher	4525	27	167	47	11.5	55	Peter Anniuk	3265	15	217	2	11.0
141	Peter Van Aacken	5003	27	185	31	17.0	54	Eric Dehli	3086	15	205	13	16.5
114	Tom Vogelman	5449	30	181	35	18.0	183	Daryl Zarembo	5531	27	204	14	18.5
115	Jeff Wendorf	5916	30	197	20	18.0	161	Mike Strege	3200	18	177	38	11.0
							162	Patrick Kirschbaum	4567	24	190	27	20.5
							163	Steve Bequest	5513	27	204	14	17.0
							240	Mike Huebner	1747	9	194	23	7.5
							251	Artie Gerschwiler	596	3	bk185	31	3.0

ID #	Name	Pins	Gms	Avg HDCP	Points		ID #	Name	Pins	Gms	Avg HDCP	Points	
					Won	Points						Won	Points
7 - DJs Goalpost							8 - Legion of Boom						
78	Andy Thorsen	5410	30	180	36	16.0	71	Drew Mason	8241	39	211	8	27.5
79	Dan Hass	2598	15	173	42	6.5	72	Phil Hawley	6125	33	185	31	25.0
80	Mitch Elert	4686	27	173	42	21.0	73	Eric Petoskey	6987	39	179	36	29.0
210	Mark Stankowski	4066	21	193	24	18.0	74	Paul Chucka	8055	39	206	12	31.0
211	Dale Hackbarth	7029	33	213	6	28.0	75	Jeff Petoskey	7955	39	203	15	20.0
236	Seth Hernandez	1954	11	177	38	10.0	196	Bob Turkoske	520	3	bk166	48	1.0
235	Dean Landry	2885	15	192	25	8.0	257	Ralph Slaber	574	3	bk208	10	1.0
244	Erin Stankowski	3593	21	171	44	8.0							
258	Mike Piotier	3127	18	173	42	4.0							
9 - Gutterheads							10 - Sandbaggin' Sobs						
126	Mike Gaffney	2874	18	159	54	8.0	42	Jon Butzlaff	5629	33	170	45	29.0
130	Mark Pawlak	2692	15	179	36	9.0	43	Tyler Kerr	5994	30	199	18	18.0
127	Eric Jung	5766	27	213	6	14.0	149	Matt Gordon	7854	39	201	17	27.0
212	Shawn Kreckel	2024	12	168	46	6.0	44	David Olson	7304	39	187	29	29.0
128	Jason Pawlak	5580	27	206	12	23.0	45	Anthony Herrmann	7043	33	213	6	26.0
129	Chris Schaller	3488	18	193	24	6.0	41	Ken Frizzelle	3251	18	180	36	15.5
148	Matt Rogowski	5370	27	198	19	19.0							
146	Iggy Megna	5452	30	181	35	22.0							
238	Amanda Schaller	1735	12	144	68	7.0							
252	Pat Read	619	3	206	12	2.0							
11 - Choke Artists							12 - ARGUS						
48	Joe Stradinger	3425	27	126	84	18.5	36	Jason Rueckert	6131	33	185	31	25.5
47	Rachel Schoolcraft	2684	18	149	63	11.5	37	Mike Laabs Jr.	4268	27	158	55	22.5
191	Jake Kallas	4302	21	204	14	20.0	38	Mike Laabs Sr.	6646	39	170	45	25.5
49	Ben Schoolcraft	6146	30	204	14	22.0	213	Dave Ernst	7753	39	198	19	23.5
50	Kenny Albrecht	4942	25	197	20	20.0	39	Sean Says	7509	39	192	25	20.0
190	Louis Vandembush	3646	18	202	16	12.0	209	Jen Rueckert	2159	18	119	90	10.0
160	Sue Daschner	6085	30	202	16	18.5							
46	Todd Albrecht	2811	18	156	57	9.0							
13 - Injury Reserve							14 - 4Pack & Juicebox						
159	Mike Plencner	3500	21	166	48	16.0	87	Russell Shields	5363	30	178	37	25.0
214	Adam Cleary	859	6	bk177	38	1.0	86	Dan Shudy	6320	33	191	26	23.0
203	Josh Dec	2246	12	187	29	12.0	88	Eric Schultz	6877	33	208	10	24.0
94	Mike Knapp	5813	30	193	24	23.5	90	Tom Siegel	6783	33	205	13	25.0
158	Jeff Peters	3297	17	193	24	18.5	189	Tyler Savignac	6250	30	208	10	18.0
93	Kevin O'Donnell	4317	23	187	29	15.0	155	Jon Lloyd	4754	24	198	19	20.0
95	Kyle Chucka	5653	27	209	9	26.0							
91	Claire Chucka	2167	12	180	36	8.0							
92	Al Declue	2382	12	198	19	11.0							
197	Leon Grob	2852	18	158	55	5.0							
262	Matt Maurice	1122	6	bk183	33	6.0							
15 - Sambucca Strikes							16 - RE/MAX Forward						
81	Ryan Bailey	3737	21	177	38	11.0	68	Jason Kallin	6630	33	200	18	33.0
215	Ted Pechacek	2533	15	168	46	12.0	67	Don Goldbach	4457	24	185	31	12.5
83	Brian Tonn	5609	30	186	30	27.0	151	Joe Hemme	5202	27	192	25	26.0
170	Tim Sowinski	5366	27	198	19	20.0	69	Craig Stuckart	6995	33	211	8	28.5
85	John Sughroue	7702	36	213	6	22.0	70	Joe Cattani	5447	27	201	17	25.5
84	Joe Ciurro	3546	18	197	20	14.0	176	Jonathan Friske	5249	27	194	23	13.0
82	Brian Kasperek	1503	9	167	47	4.0	66	Rocco Cattani	3779	18	209	9	17.5
241	Steve Sughroue	1459	12	121	89	13.0	152	Bryan Wolf	693	3	bk195	22	4.0
192	Jeff Batchelor	1617	9	179	36	4.0							
253	Jared Witkowiak	2006	15	133	78	5.0							
263	Steve Rozinski	755	3	bk205	13	3.0							
17 - 3 Big Ones							18 - What a Team						
116	Derek Hutchinson	5763	36	160	54	27.0	216	Jesse Ceron	3694	21	175	40	21.0
194	Matt Klinker	2752	18	152	61	10.5	2	Phil Snyder	4999	30	166	48	14.0
165	Kyle Balsewicz	1963	12	163	51	9.0	3	Zack Jaeger	4634	27	171	44	13.0
117	Paul Gitzlaff	7011	39	179	36	33.0	4	Joe Strazishar	4038	21	192	25	20.5
120	Brian Uebelacker	6923	33	209	9	25.0	5	Joe Radomski	4726	24	196	21	15.0
119	Dustin Uebelacker	2221	12	185	31	8.0	1	Mike Nevels	4251	30	141	71	15.5
164	Jeremy Oswald	565	6	bk91	116	2.0	247	Pat Kleist	5902	30	196	21	7.0
245	Izzy Bouthsy	2734	24	113	96	12.0							
246	Robert Knapp	1835	12	152	61	5.0							

ID #	Name	Pins	Gms	Avg HDCP			Points	ID #	Name	Pins	Gms	Avg HDCP			Points
				Won	ID #	Name	Pins					Gms	Avg HDCP	Won	
19 - Hamm's Hammers								20 - Silent Strikers							
121	Mark Anderson	5873	36	163	51	25.0	60	Craig Walters	6786	30	226	-6	25.0		
122	Bret Henkel	7031	39	180	36	28.5	59	Ann Mueller	6358	33	192	25	20.5		
124	John Morrell	5434	30	181	35	19.5	58	Chris Ittner	3819	21	181	35	10.5		
125	Jim Osielski	7283	39	186	30	30.0	185	Noelle Wolter	7243	39	185	31	22.0		
180	Kory Mocbeichel	3221	15	214	5	9.0	217	Robert Poeschl	6500	30	216	3	21.0		
123	Tim Schlict	5119	30	170	45	18.5	254	Keno Pearson	1300	6	bk210	9	6.0		
264	Shane Parker	483	3	bk185	31	2.0	57	Ashley Ittner	2450	15	163	51	6.0		
21 - Wet, Hot, American Bowling							22 - Team 47								
218	Marie Dean	3588	33	108	100	19.0	106	Scott Burdick	6464	33	195	22	27.0		
219	Tim Felion	4054	39	103	105	23.5	107	Tracy Mickelson	5126	33	155	58	20.0		
220	Jacob Gagas	4614	30	153	60	31.0	108	Jeremy Saddison	6089	30	202	16	24.0		
221	Joe Duffek	5211	36	144	68	22.0	168	Ken Hausch	5647	30	188	28	15.0		
222	Jay Kallenbach	6186	36	171	44	30.0	109	Chris Peters	7092	36	197	20	28.5		
23 - Rule #24							24 - Kuglitsch's								
223	Lewis Lea	6564	33	198	19	20.0	169	Jay Lewein	6946	39	178	37	27.0		
224	Maria Delgado	6022	33	182	34	25.0	23	Scott Vida	7088	39	181	35	21.5		
225	Lacy Weiss	6180	33	187	29	19.5	202	Bob Duebig	2343	12	195	22	8.0		
226	Justin Weiss	7323	36	203	15	21.0	25	Dave Theys	7161	36	198	19	20.5		
227	Scott Nagorski	6980	33	211	8	24.0	22	Deja Theys	4146	36	115	94	17.5		
228	Otto Meccia	658	3	bk204	14	4.0	21	Matt Reber	2039	18	113	96	14.0		
229	Carl Bauer	1110	6	bk200	18	4.0	230	Bob Stemo	542	3	180	36			
25 - Gutter Busters							26 - SF Bowlers								
63	Jake Huebner	4076	27	150	63	13.0	231	John McLees	2483	24	103	105	17.0		
65	Tony Bui	5969	39	153	60	30.0	232	Craig Runkel	4201	36	116	93	30.0		
167	Vince Blankenheim	2649	18	147	65	6.0	233	Chad Olson	4560	33	138	73	22.0		
61	Ben Spitzer	7398	39	189	27	26.5	199	Bob Ahrens	6089	33	184	32	18.5		
62	Jason Uy	7174	39	183	33	20.0	234	Brian Fridl	7424	39	190	27	39.0		
248	Jon Uy	2242	15	149	63	6.0	237	Zach Fridl	1097	6	182	34	4.0		
260	Jeff Uy	557	3	185	31	3.0	249	Mark Bueche	584	6	97	110			
27 - Livin on a Spare							28 - Balls Deep								
96	Nick Poulakos	5301	36	147	65	15.5	250	Bill Baumann	377	3	125	85	3.0		
97	Tom Poehlmann	5661	33	171	44	24.5	261	Brian McNearney	1422	12	118	91	9.0		
98	Jeff Filsinger	5481	33	166	48	24.0	33	Jeff Keller	3412	21	162	52	22.0		
193	Nick Hatch	2123	12	176	39	5.0	31	David O'Keefe	4040	27	149	63	18.0		
99	Lee Lentz	6765	36	187	29	27.5	35	Jason Stamm	3306	18	183	33	10.0		
100	Gary Shuff	3180	18	176	39	11.0	32	Brad Skyrzpchak	4918	27	182	34	23.5		
172	Mike Dougherty	1923	12	160	54	4.0	34	Chris Bunke	5114	27	189	27	21.0		
171	Scott Duchin	2147	15	143	69	13.0	145	Henry Poth	4692	24	195	22	15.0		
							142	Brad Weber	1278	9	142	70	8.0		
							143	Ramie Braun	3438	21	163	51	11.5		
							144	Tyler Debruin	1730	12	144	68	6.0		
							186	Steve Bratley	1597	9	177	38	6.0		